LMS_R17M3 cone sensitivityy max(A)=1
I'r17m3,10)=B11XR17M3,10) +B12Y R17M3,1(A)

2,0 Byj

+B1aZr17m3,1(M)
0,4761 0,6666 -0,1142=570

D65:5T R17Mm3,1(\)=20,14
XRl7M3,l:0’2918
Yr17Mm3,170,3048

1F-~"~""~"""""Q@ """ ~"~"~==~-=---

400

500 600
wavelengthA /nm

BE560-1A 1




LMS_R17M3 cone sensitivityy max(A)=1
I'r17m3,10)=B11XR17M3,10) +B12Y R17M3,1(A)

2,0 Byj

+B1aZr17m3,1(M)
0,4761 0,6666 -0,1142=570

D50:5T R17Mm3,1(A)=20,60
Xr17Mm3,1=0,3201
YRr17Mm3,170,3369

1y~~~ ~"~"~"~"~"%¢ T~~~ ~~-

400

500 600
wavelengthA /nm

BE560-1A 1




LMS_R17M3 cone sensitivityynax(A)=1
I'R17M3,10)=B11XR17M3,10)+B1YR17M3,10)
+B1gZr17m3,1(A)

2,0} Blj 0,4761 0,66536 -0,1142=570
P40:5T g1713,1(\)=21,68
Xr17Mm3,1=0,3500
Yr17Mm3,1=0,3566
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LMS_R17M3 cone sensitivityy max(A)=1
I'r17m3,10)=B11XR17M3,10) +B12Y R17M3,1(A)

+B1gZri7m3,1(A)
2 Blj 0,4761 0,66§6 -0,1142=570
A00:3T Ry73 1(N)=23,66
Xr17M3,1=0,4127
Yr17Mm3,1=0,3983
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LMS_R17M3 cone sensitivityy max(A)=1
I'r17m3,10)=B11XR17M3,10) +B12Y R17M3,1(A)

2,0 Byj

+B1aZr17m3,1(M)
0,4761 0,6666 -0,1142=570

E00:5T R17m3.1(\)=21,18
Xr17Mm3,1=0,3076
Yr17Mm3,1=0,3076
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LMS_R17M3 cone sensitivityy max(A)=1
I'r17m3,10)=B11XR17M3,10) +B12Y R17M3,1(A)

2,0 Byj

+B1aZr17m3,1(M)
0,4761 0,6666 -0,1142=570

C00:3T R17Mm3,1(A)=19,69
XRl7M3,l:0’2904
YR17Mm3,170,2946
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LMS_R17M3 cone sensitivityynax(A)=1
I'R17M3,10)=B11XR17M3,10)+B1YR17M3,10)
+B1gZr17m3,1(A)

2,0} Blj 0,4761 0,66536 -0,1142=570
P0O0:3T r17m3,10N)=21.75
Xr17m3,1=0,3311
Yr17m3,1=0,3303
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LMS_R17M3 cone sensitivityy max(A)=1
I'r17m3,10)=B11XR17M3,10) +B12Y R17M3,1(A)

2,0 Byj

+B1aZr17m3,1(M)
0,4761 0,6666 -0,1142=570

Qoo:sT R17M3,1(A)=20,72
XRl7M3,l:0’2854
YR17Mm3,170,2831
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